EUAS Practice 2

1a. [2 marks]

— 3z
Let f(=) = z—q, where T #q

Write down the equations of the vertical and horizontal asymptotes of the graph of £, | 7\=§_1--'
%o

1b. [2 marks]

The vertical and horizontal asymptotes to the graph of f intersect at the point Q(L, 3:3

Find the value of ¢ s li e S e
w Fin \'s ; = ofs
y Bifithevaveofd RS verk Voo
\ 1c. [4 marks]
The vertical and horizontal asymptotes to the graph of f intersect at the point Q(1, 3).

= —1)2 4 (-8)?
The pointP(‘”a Y) lies on the graph of f. Show thatPQ - \/(; 1"+ (-"3—1) .

2a. [2 marks]

Let f(®) =3z — 2 44 g(z) = 33: ,for ® #0,
X= 33-

Find f_l (:1:) N D s

2b. [2 marks] 3°

S e 5 a0
Mthat(QOf—l)(w) $+2 %Lx:_sl}_. 3_&‘._2_9 =] (3 ¢ ‘)(x)

2c. [2 marks]

h(m) m+2 forZ 2 0. The graph of h has a horlzontal asymptote at¥Y = 0

Let
Find the Y-intercept of the graph of h. W ()= °f> /3
2d. [3 marks]

Hence, sketch the graph of A.

2e. [1 mark] <
0= K ~ =

For the graph ofh_l, write down the z-intercept; A= lj"? 2= s
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2f. [1 mark]

For the graph ofh_l, write down the equation of the vertical asymptote.

n(x) = %-—-3 or _9-ax X=0 s the asjmpbgj
2g. [3 marks] X : —
. h~l(a) =3 =93 -
Given that & , find the value of a. 3= & =
o

3a.[1 mark]

— 9
Let fle)=p+ 2—q, for ® 7 4. The line £ = 3 is a vertical asymptote.to the graph of f.

Write down the valgg_gj:_g,__\

{3=3
3b. [4 marks]
A W) q
The graph of f hasa Y-intercept at (0, 4). 4= P ¥ 0-3
—p-3
Find the value of P. 4 | %
g 1= é l

3c. [1 mark]
The graph of f hasa Y-intercept at (0, 4).
Write down the equation of the horizontal asymptote of the graph of T

Sr)= 1+ f-LaT
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1. Let Ax)= — x#O

e %
(a)  Sketch the graph of f.
@
R\%\\‘\' a
The graph of fis transformed to the graph of g by a translation of 3
op
1
(b) Find an expression for g(x). = e +3
% (x) X~-2 @
1
6= 3 ¥3 ged= g *3
(¢) (i) Find the intercepts of g. 3= ! . _3(},,33 = | = =243

- —5 & ‘ ==
(ii) Wrilgﬁn{aﬂ.%he-‘e;uﬁ&gof the asymptotes of g. S one 3 P i é(b) = Jg \
(i) Sketch the graph of g. @
T (o) esd PN
— - —- - 3=3 otal 14 marks)
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2, The function f(x) is defined as f(x) =3 + , X #F i
2x-5 2
(a)  Sketch the curve of f for showing the asymptotes.
flo)=3+5 =2 O 3 > ——t—
Frs
=X 4\F = \ ~laxs= "\“‘
(b)  Using your sketch, write down ‘= "‘/u

%23

(i)  the equation of each asym
(Y= 5 A= 57::1

(i) the value of the x-intercept;

(iii) the value of the y-intercept.

](,0,2.%'? B )

(Total 7 marks)
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3. Letf(x)= p——; -, Where p, g€ R*.
x2-

Part of the graph of £; including the asymptotes, is shown below.

-4r
i-er
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I 10 :
=2 .
(a) The equations of the asymptotes are x =1, x = —1, y = 2. Write down the value of
N 2
@) q. |
@
(Total 2 marks)
4. (a) The diagram shows part of the graph of the function f(x) = —2 . Thecurve passes through the
xX=p

point A (3, 10). The line (CD) is an asymptote.
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K= 2

Find the value of
(O i
10 = 3-2
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(b)  The graph of f(x) is transformed as shown in the following diagram. The point A is transformed to
A’ (3,-10).
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Give a full geometric description of the transformation.
$(x) s ver¥ Ca\\-s refledred over the X-aRis (Total 6 marks)

S. The function fis given by

(a)

(b)

(c)
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fo)= 2;‘—:’271,xe R,x#3.
(i)  Show that y= 2 is an asymptote of the graph of y =/(x). Since Bg Same d‘eﬁr-e.e )
i j 2
vhe Woritental asgnetote 15 S= = D £
(ii)  Find the vertical asymptote of the graph.

*=3 @
(iif) Write down the coordinates of the point P at which the asymptotes intersect.
@
C 3) 9> . 2A0del (o ..l_>
Find the points of intersection of the graph and the axes. L£l)= ()-3 3 ' 3

o=2rx+\ ax=-\ x=-f3  ((~Y5,0) @

Hence sketch the graph of y = f(x), showing the asymptotes by dotted lines.
“)

(Total 12 marks)
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